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S.no TOPICS 

1.       – Simple interest 7th Std Maths      3     2 

 

       
                                                      

     .                                              

            .                                             

                  ,               ,                       

                                       .             

         .     ,                                     

                                            .  

             =     +     

                ,                              .  

        .100 ஐ.  .8                            

             .            8%             . 

                        .100                 .8 ஐ 

                   .  

            15%            .10,000 ஐ                . 

                                                   . 

               =  .10,000  

        = 15 %       

               .100 ஐ                    .15 ஐ               

     .                 .10,000                          

             . 

15/100 × 10000 = ₹ 1,500 

    ,                               

             = 10,000 + 1,500 

 = ₹ 11,500 
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                            “   ”                 

              . P ஐ                                  . r% 

ஐ                    .                  ₹ 100      

              ₹ r.      ₹ P     1                            

[P×r]/100         .                 (      )                

                                                

                            .                     

                    . 

    ₹ P                   r%                            

    P×r/100.     ,                   (I) 'n'         

[P × n × r ] /100 (    ) Pnr/100 

 

     'n'                                            A = 

P+I 
 

          2.24    

₹ 25,000     8%         3                    .  

    

        (P) = ₹ 25,000  

       (r) = 8 %        

             (n) = 3       

       (I) = Pnr/100 

= 25000 × 3 × 8/100 = 6000 

    ,       ₹ 6,000    . 

 

1.                         5%         ₹ 5000 ஐ         

      .                                         

                     .  

    : 

         (P) = ₹5000 

         (r) = 5%        

      (n) = 3       

        I = Pnr/100 = [ 5000 × 3 × 5 ] / 100 = ₹750 
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                       A = P + I = ₹ 5000 + ₹750 = ₹5,750 

I = ₹750; 

A = ₹5,750  

2.                 ,       12%         ₹ 6,000 ஐ 7 

                          , 7                      

                       ? 

    : 

        (P) = ₹ 6.000 

        (r) = 12%       

     (n) = 7      

       (I) = Pnr / 100 = [ 6000 × 7 × 12 ] / 100 

I = ₹ 5,040 

                       A = P + I = 6,000 + 5,040 =  ₹ 11,040  

 

          2.25    

                          10%         2            ₹ 750 

ஐ                    ,           . 

     

       (r)  = 10%          

      (n)   = 2       

       (I)  = Pnr/100 

750  = P × 2 × 10/100 

    ,     (P) = (750×100) / (2×10) =3750 

    ,                           ₹ 3,750    . 

 

          2.26     

             ₹ 5,600       6%             ₹ 6,720    

    . 

    

    (P) = ₹ 5,600 

       (r) = 6%          

             = ₹ 6,720 

             =     +       
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       =              -     

= 6720 - 5600 

= 1120 

      = Pnr/100                 . 

1120 = [6720 × 6 × n] /100 

n = [1120 ×100] / [5600 × 6] = 3 (1/3)  = 3      . 

 

          2.27    

                                   ₹ 52,000 ஐ           

                         . 4                    ₹ 79,040 ஐ 

                             ,                . 

    

    (P) = ₹ 52000  

     (n) = 4        

      =              -     

= 79040 - 52000 = 27040 

      (I) = Pnr/100 

    , 27040 = [52000×r×4]/[100] 

r = [27040 × 100] / [52000 × 4] = 13% 
 

          2.28     

    ₹ 46,000 ஐ 1     9                                    

         ₹52,440              ,                .  

    

A = P+I  
 I = A - P 

= 52440 - 46000 

= ₹ 6,440  

  r = ? 



 

 

 

Telegram: TNPSC PRE COACHING   Contact : 8438233722 

 

 

 
 

          2.29  

             10%           5        ₹10,050           

   ,           . 

    

A = ₹ 10,050  

n = 5        

r = 10% 
P = ?  
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P=10050 * (2/3)=3350*2=₹. 6700 

 

1.                10                            

                                             ? 

    : 

     P                r'%       . 

      n = 10        

 10                    P      2 P        

A = P + I 

2              A = 2P 

      . 2P = P +1 

2P - P = I 
P = P×n×r  / 100 

P = P×10×r  / 100 
 r = P×100 / P×10 
 r = 10% 

                                  A = P + I = 3P 

3P = P + I 
3P - P = I 

2P = I 
 2P = [ P×n×10 ] / 100 
[2P × 100] / [ P × 10 ] = n 

 n = 20        

20                                      . 

 

     2.4 

1. ₹ 35,000           9%                       

             . 

p = ₹ 35,000  

r = 9%  

n = 2         

       

 I = ( Pnr ) / 100 
= (3500 × 2 × 9) / 100 

= ₹ 6300  
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2.             ₹ 8,000 ஐ,                       7%       

                 .                                    

                               .  

P = ₹ 8000  

n = 2        

r = 7% 

       = ( Pnr ) / 100 

= (8000 × 2 × 7) / 100 

= 80 × 2 × 7  

= ₹ 1120  

                                         

= P + I  

= 8000 + 1120 

= ₹ 9120  

 

3.                           4         9.5%           

         ₹ 21,280 ஐ              ,           . 

       = ₹ 21,280 

n = 4        

r = 9.5% 

       I = (Pnr) / 100 

P = 1001 / nr 

= (100 × 21280) / (4 × 9.5) 

P = ₹ 56,000 

 

4.                                               ₹ 8,500 

ஐ               .                     ₹ 11,050 ஐ         

                              ? 
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P = ₹ 8500  

      = ₹ 11050  

n = 3       

I - P = 11050 - 8500  

= ₹ 2550 

I = Pnr / 100 

r = 100 × I / Pn 
= 100 × [ 2550 / (8500 × 3) ] 
= 850 / 85 

r = 10% 
 

5.       13%                    ₹ 16,500             

       ₹ 22,935        ?  

P = ₹ 16500, A = ₹ 22935  

r = 13%   
I = A - P 

= 22935 - 16500  

= ₹ 6435 

I = Pnr / 100  

n = (100 × I) / Pr 
= ( 6435 × 100 ) / (16500 × 13) 

= 495 / 165 

n = 3       

 
 

6.       6%                   ₹ 17800             

       ₹ 19936        ?  

    :  

P = ₹ 17800, A = ₹ 19936   r = 6%  
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I = A - P = 19936 - 17800   I = ₹ 2136 

I = Pnr / 100  

n = (100 × I) / Pr 
= (100 × 2136) / (17800 × 6) 
= 356 / 178 

n = 2        

 
 

7.                    ₹ 48,000     2       3                  

                                ₹ 55,560             ,     

             

P = ₹ 4800, A = ₹ 55560  

n = 2      , 3      = 2 1/4 

9 / 4       

I = A - P = 55560 - 48000 

= ₹ 7560  

I = Pnr / 100 
n = (100 × I) / Pr 
n = (100 × 7560) / [ 48000 × (9/4) ] 

= 7560 / ( 120 × 9 ) 
= 63 / 9 

r = 7% 
 

8.              3        12%                   ₹ 17,000 

               ,                   .  

P                

A = ₹ 17000 

n = 3, r = 12%  
A = P + I 

= P + (Pnr / 100) 
A = P [1 + (nr / 100) ]  
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17000 = P (1 + [ (3 × 12) / 100 ]  
17000 = P [ ( 25 + 9 ) / 25 ]  

17000 = P (34 / 25) 
P = (17000 × 25) / 34 

= 500 × 25  

= ₹ 12500 

 

                   

9.                    ₹ 4,500                    ₹ 5,000 

       ,               

i) ₹ 500 

ii) ₹ 200  

iii) 20% 
iv) 15% 

 

10.               ₹ 1,000                 10%              

         

i) ₹ 200 

ii) ₹ 10  

iii) ₹ 100   

iv) ₹ 1,000 

 

11.                    ₹ 2000               ₹ 200 ஐ 

                             ?  

i) 10% 

ii) 20%  

iii) 5% 

iv) 15% 
 

1.                                2        ₹6,200     , 3 

       ₹6,800            .                   ,     

            .  

    :  

P      , R         

  P + (P × 2 × R/100) = 6200 ----- (1)  

P + (P × 3 × R/100) = 6800 ----------- (2)  

1 & 2 ஐ       

(3PR / 100) – (2PR / 100) = 6800 - 6200 = 600 

(3PR - 2PR) / 100 = 600  
PR = 600 × 100  

PR = 60000 
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(1) + (2) 2P + 5 PR / 100 = 13000 ------- (3)  
PR = 60000 in (3)  

2P + 5 × 6000 / 100 = 13000  
2P + 3000 = 13000  

2P = 13000 - 3000  
2P = 10000  
P = 5000  

PR = 60000  
5000 × R = 60000 
= R = 60000 / 500  

= 12% 
 

2.                     .46,900    2                       

                      .53,466    ,                .  

    :  

P =  .46,900  

n = 2        

A =  .53,466 

A = P [1+ (nr / 100]  
53466 = 46900 [1 + (2r / 100) ] 

1 + (2r / 100) = (53466 / 46900) - 1 
= (53466 – 46900) / 46900  
2r / 100 = 6566 / 46900 

r = (6562 × 100) / (46900 × 2) 
= 6562 / 938 
= 6.9951   

r = 7% 
 

3.                          .5,000 ஐ 2                

         .3,000   4                                . 

             .2,200 ஐ                      ,            

    .  

    :  

    +       =            

[ (5000 × 2 × r) / 100] + [ (3000 × 4 × r) / 100] = 2200  
100r + 120r = 2200 



 

 

 

Telegram: TNPSC PRE COACHING   Contact : 8438233722 

 

220r = 2200  
r = 2200 / 220   

r = 10%  
 

4.           4                         ,            

     (    : P =  .100              ).  

    : 

P =  .100  

A =  .200, n = 4       

A = P [1 + (nr / 100)]  
P [1 + nr / 100) ] = A 
100 ( 1 + (1 + 4 × r) / 100)  = 200 

1 + (nr / 100) = 2 
nr / 100 = 2 – 1 
nr / 100 = 1 

4r = 100 
R = 100 / 4 

r = 25% 
 

5.                                    .10,000 ஐ 2%       

                     , 4                            

     ?  

    : 

P =  .10000,  r = 2%  

n = 4       

SI = Pnr / 100 

= (10000 × 4 × 2) / 100 
= 100 × 8 

=  .800 

 

6.                             .15,000 ஐ 10%                 

                   .9,000 ஐ                   ,         

            ,                              .  

    : 

P =  .15000,        =  .9000  
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r = 10%  

      = Pnr / 100 

9000 = (15000 × n × 10) / 100 
n = (9000 × 100) / (15000 × 10) 
= 90 / 15  

n = 6       

 

7.  .3,000             8%                        .4,000 

            12%    4                                 

        ?  

    : 

p1 = 3000 
n1 = x 

r1 = 8y 
p2 = 4000 

n2 = 4       

y2 = 12% 

x                         

(p1 n1 r1) / 100 = (p2 n2 r2) / 100  

(3000 × x × 8) / 100 = (4000 × 4 × 12) / 100 
x = (4000 × 4 × 12) / (3000 × 8) 

x = 8       
 




